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g§ñH¥$V_² (Ho$pÝÐH$_²) 

SANSKRIT (Core) 

g_` : hmoamÌ`_²    nyUm©‘>m& : 100 

{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 100 

Time allowed : 3 hours Maximum Marks : 100 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 16 h¢ & 

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥>ð> na {bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >18 àíZ h¢ & 

 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 

 Bg  àíZ-nÌ  H$mo n9T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©  _| 
10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n9T>|Jo Am¡a 
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 16 printed pages. 

 Code number given on the right hand side of the question paper should be 
written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 18 questions. 

 Please write down the Serial Number of the question before 
attempting it. 

 15 minute time has been allotted to read this question paper. The question 
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on 
the answer-book during this period. 
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{ZX}em…  : 

g‘>oVm^mdo gd}fm§ àíZmZm_wÎmam{U, g§ñH¥$VoZ¡d boIZr`m{Z & 

Ohm± ñnï> g§Ho$V Zht h¢, dhm± CÎma g§ñH¥$V _| hr Xr{OE & 

Answer the questions in Sanskrit only unless stated otherwise. 

 

 

 

Apñ_Z² àíZnÌo MËdma… IÊS>m& gpÝV & 
Bg àíZ-nÌ _| Mma IÊS> h¢ & 

There are four sections in this question paper. 

 

IÊS>& H$ An{R>Vm§e  Ad~moYZ_² (An{R>Vm§e  Ad~moYZ)   10 A‘>m& 

SECTION A (Unseen Reading Comprehension) 

IÊS>& I g§ñH¥$VoZ aMZmË_H$H$m`©_² (g§ñH¥$V aMZmË_H$ H$m`©)  15 A‘>m& 

SECTION B (Sanskrit Writing Skills) 

IÊS>& J AZwà`waVì`mH$aU_² (AZwà`waV$ ì`mH$aU) 30 A‘>m&   

SECTION C (Applied Grammar) 

IÊS>& K ^mJ I – n{R>Vm§e  Ad~moYZ_² (n{R>Vm§e  Ad~moYZ) 35 A‘>m& 

SECTION D PART I – Reading Comprehension 

  ^mJ II –  gm_mÝ`& g§ñH¥$Vgm{hË`n[aM`& 

         (gm_mÝ` g§ñH¥$V gm{hË` n[aM`) 10 A‘>m&   

  PART  II – General Introduction to Sanskrit Literature 
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IÊS…> H$ (SECTION A) 

An{R>Vm§e  Ad~moYZ_²  

An{R>Vm§e  Ad~moYZ 

 Unseen Reading Comprehension             10 A‘>m& 

1. AYmo{b{IV§ JÚm§e§ n{R>Ëdm àXÎm-àíZmZm_² CÎmam{U g§ñH¥$VoZ {bIV & 

 {ZåZ{b{IV JÚm§e H$mo n9T>H$a {XE JE àíZm| Ho$ CÎma g§ñH¥$V _| Xr{OE & 
 Read the following passage and answer the given questions in Sanskrit. 

 JÚm§e…   

                àH¥${V: àË`h§ gd©Ì dZofw CndZofw _wº$hñVoZ AmZÝX§ {dVa{V & VÌ ^mZmo: {H$aUm: 

dmVmdaU_² D$Om©_`§ Hw$d©pÝV & Vo nwînm{U {dH$mg`pÝV & «̂_am: nwînofw JwÄOpÝV & ndZ: 

Vê$Um§ Xbm{Z Hw$gw_m{Z M AmÝXmob`{V gm¡a §̂ M àgma`{V & àmV:H$mbo OZm: CÚmZofw 

«̂_pÝV, YmdpÝV ì`m`m__² M AmMapÝV, nañna§ AmbnpÝV M & à^mVdobm`m§ àH¥${V: 

{d{eîQ>V`m {ZOgm¡ÝX`ª àH$Q>`{V & naÝVw `o VmÑeo gwaå`o g_`o eæ`mgw gwám: {VîR>pÝV ZyZ§ Vo 

àH¥$Vo: AmZÝXoZ gm¡ÝX`©oU M d{ÄMVm: Ed ^dpÝV & 

àíZm… 

(A) EH$nXoZ CÎmaV & (Ho$db§ àíZMVwîQ>`_²) 
 EH$ eãX _| CÎma Xr{OE & (Ho$db Mma àíZ) 
 Answer in one word. (Only four questions)  

2

1  4=2 

(i) àH¥${V: àË`h§ _wº$hñVoZ qH$ {dVa{V ? 

(ii) H$ñ` {H$aUm: dmVmdaU_² D$Om©_`§ Hw$d©pÝV ? 

(iii) àH¥${V: H$Xm {ZOgm¡ÝX`ª àH$Q>`{V ? 

(iv) «̂_am: Hw$Ì JwÄOpÝV ? 

(v) H$: Vê$Um§ Xbm{Z AmÝXmob`{V ? 

(~) nyU©dma` oZ CÎmaV & (Ho$db§  àíZÛ`_²) 
 nyU© dma` _| CÎma Xr{OE & (Ho$db Xmo  àíZ) 
 Answer in a complete sentence. (Only two questions) 2 2=4 

(i) `o eæ`mgw gwám: {VîR>pÝV Vo Ho$Z d{ÄMVm: ^dpÝV ? 

(ii) ndZ: àH¥$Vo: gh`moJ§ H$W§ XXm{V ? 

(iii) àmV:H$mbo OZm: CÚmZofw qH$ qH$ Hw$d©pÝV ? 
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(g) `Wm{ZX}e_² CÎmaV & (Ho$db§  àíZMVwîQ>`_²) 
 {ZX}emZwgma CÎma Xr{OE & (Ho$db Mma àíZ)  
 Answer as directed. (Only four questions)  

2

1  4=2 

(i) 88gwaå`o g_`o99 AÌ {deofUnX§ {H$_² ? 
(ii) 88OmJ¥Vm:99 Añ` {dbmo_nX§ qH$ à`wº$_² ? 

(iii) 88Vo nwînm{U {dH$mg`pÝV99 AÌ 88Vo99 gd©Zm_nX§ Ho$ä`: à ẁº$_² ? 

(iv) 88gwJÝY_²99 B{V nXñ` g_mZmW©H§$ nX§ JÚm§emV² {MËdm {bIV & 
(v) 88 «̂_pÝV99 B{V {H«$`mnXñ` H$V©¥nX§ qH$ à`wº$_² ? 

(X) Añ` AZwÀN>oXñ` H¥$Vo g_w{MV§ erf©H§$ g§ñH¥$VoZ {bIV & 
 Bg AZwÀN>oX Ho$ {bE Cn ẁaV erf©H$ g§ñH¥$V _| {b{IE & 
 Write a suitable title for this passage in Sanskrit. 2 

IÊS…> I (SECTION B)  
g§ñH¥$VoZ aMZmË_H$H$m`©_² 
g§ñH¥$V aMZmË_H$ H$m`© 

 Sanskrit Writing Skills 15 A‘>m& 
2. ^dV: Zm_ àXrn: ApñV & ^dmZ² N>mÌmdmgo dg{V & AOÝVm-Ebmoam-JwhmXe©ZmWª  

e¡{jH$`mÌm`¡ JÝVw_² BÀN>{V & YZàofUmWª {nVa§ à{V {b{IV§ nÌ§ _ÄOyfm`m§ àXÎm¡: C{MV 
eãX¡: [aº$ñWmZm{Z nya`V & 

  AmnH$m Zm_ àXrn h¡ & Amn N>mÌmdmg _| ahVo h¢ & e¡{jH$ `mÌm Ho$ {bE AO§Vm-Ebmoam H$s 
Jw\$mAm| H$mo XoIZo OmZm MmhVo h¢ & YZ ôOZo Ho$ {bE {nVm H$mo {bIo nÌ _| [aº$ ñWmZm| H$mo 
_§Oyfm _| {XE JE C{MV eãXm| go ^[aE & 

 You are Pradeep and stay in a hostel. You want to visit Ajanta-Allora in 

educational trip. Fill in the blanks in letter written to your father for 

sending money. Select appropriate words from the given box.  
2

1  10=5 

                                                   N>mÌmdmg>: (i) _______ & 
 na_mXaUr`m: (ii) _________ 

  gmXa§ àU_m{_ & 
 g{dZ`§ (iii) ___________ `V² __ Ì¡_m{gH$s narjm g_m{ßV§ (iv) _________ & 

__ (v) ___________ emo^Zm{Z A^dZ² & Apñ_Z² (vi) ____________ Ah§ J¥h§ Z 
AmJ{_î`m{_, `V: {dÚmb òZ EH$ñ`m:  (vii) _________ à~ÝY: H¥$V: & Efm 
AOÝVm-Ebmoam-JwhmZm§ Xe©Zm` Am`mo{OVm dV©Vo & `mÌm-ì``mWª (viii) _________ 

ê$ß`H$m{U Amdí`H$m{Z & H¥$n`m "noQ>rE_' B{V _mÜ`_oZ àof`ÝVw ^dÝV: &  
 eof§ gdª Hw$eb_² & __ (ix) _________ AJ«Om` M gmXa§ àUm_m: & 
                                                       ^dVm§ ñZohnmÌ_² (x) _________ 

_ÄOyfm 

 

JVm, MoÞB©V:, J«rî_mdH$meo, àXrn:, nÄMghò_², e¡{jH$`mÌm`m:, OZÝ`¡, 
{nV¥_hm^mJm:, CÎmanÌm{U, {ZdoX`m{_ & 
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3. _ÄOyfm`m§ àXÎmeãXmZm§ ghm`V`m AYmo{b{IVm`m§ bKwH$Wm`m§ [aaVñWmZm{Z nya{`Ëdm H$Wm§ 
nwZ& {bIV & 

 _ÄOyfm _| {XE JE eãXm| H$s ghm`Vm go {ZåZ{b{IV bKwH$Wm _| [aº$ ñWmZm| H$s ny{V© H$a 
H$Wm H$mo nwZ& {b{IE & 

 Fill in the blanks in the following short story with the help of the words 

given in the box below and rewrite the same. 
2

1  10=5 

 H$Wm  

       X{jU ^maVo EH$mo _hmË_m AOm`V  _h{f©: a_U: & g§: {ZË`§ àmV: {ÌdmXZo dZ§ JÀN>{V  
ñ_ & EH$Xm V_² An¥ÀN>V² H$píMV² – 88^dmZ² {ZË`§ àË`yfH$mbo dZ§ H$W§ JÀN>{V ?99 
(i) _________ CXVaV² – "Ah§ grVmam_`mo: (ii) __________ JÀN>m{_ & Efm  
(iii) _________ g_mMmanÌo àH$m{eVm gÄOmVm & B_m§  (iv) __________ n{R>Ëdm EH$: 
(v) __________ V_² à{V (vi) __________ An¥ÀN>V² M 88qH$ BX§ (vii) ____________ 

`Xm ^dmZ² dZ§  (viii) ____________ VXm grVmam_m¡ (ix) ____________ &99 _h{f©a_U: 
AdXV² – Am_, 88gË`_od99 & {¼îQ>nyOH$: àîQw>_²  (x) __________ qH$ gmo@{n V`mo: Xe©Z§ 
H$Vªw eaZm o{V & 

_ÄOyfm 

 

4. 88gy`m©oX`:99 AWdm 88Xrn_m{bH$m99 B{V {df`_{YH¥$Ë` _ÄOyfm`m§ àXÎmeãXmZm§ gmhmæ òZ 
nÄMg§ñH¥$Vdma ¡̀: EH$_² AZwÀN>oX§ {bIV & 

 _ÄOyfm _| {XE JE eãXm| H$s ghm`Vm go 88gy`m©oX`99 AWdm 88Xrn_m{bH$m99 Bg {df` na 
nm±M g§ñH¥$V dma`m| _| EH$ AZwÀN>oX {b{IE & 

 With the help of the words given in the box below describe 88Suryodaya99 
or 88Deepmalika99 in five sentences in Sanskrit.  1 5=5 

_ÄOyfm 

 

AWdm 

 

àH$mend©, àÁdmë`ÝVo, à{Vdf©_², ñdJ¥hm{U, {dVaU_², {dñ\$moQ>Z_², Xrnm:, gwY`m, OZm:, 
ñdÀN>VmH$m`©_², {dÚwÔrnm:, {_îR>mÞ_², gm`§, ew^H$m_Zm:, amÌm¡, bú_r_², nañna_² & 

KÊQ>mÜd{Z:, àH$me:, CÚmZofw, n{jU:, gy`m©oX`:, gd©Ì OZm:, Om`Vo, H$bad§, YmdZ§, 
ì`m`m_§, Hw$d©pÝV, Xodmb`_², ñdH$_©{U, H¥$fH$m:, ~mbm: & 

dmVm©_², _h{f©:, {¼îQ>nyOH$:, Xe©ZmWª, dmVm©, gË`§, JÀN>{V, CnmJÀN>V², ní`{V, EoÀN>V² 
& 
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IÊS…> J (SECTION C) 
AZwà`wŠVì`mH$aU_² 
AZwà`wŠV ì`mH$aU 

 Applied Grammar 30 A‘>m& 

5. AYmo{b{IVdma`ofw aoIm{‘>VnXmZm§ gpÝYÀN>oX§ Hw$éV & (Ho$db§  àíZfQ>²H$_²) 
 {ZåZ{b{IV dma`m| _| aoIm§{H$V nXm| H$m gpÝY-{dÀN>oX H$s{OE & (Ho$db N>h àíZ) 

 Disjoin Sandhis in the underlined words of the following sentences.  

                                                                                      (Only six questions) 1 6=6 

(i) gXmZwHy$bofw {h Hw$d©Vo a{V_² & 

(ii) {hVmÞ `: g§ûm¥UwVo g qH$ à ŵ: & 

(iii) MmUa`: ñdßZo@{n Z MoîQ>Vo & 

(iv) g{ÛÚm `{X qH$ YZ¡: & 

(v) BZíM {XZñ` & 

(vi) BV BVmo Xod: & 

(vii) Ahmo amOVo H$sÑer`§ {h_mZr & 

6. AYmo{b{IVdma`ofw aoIm{‘>Vg_ñVnXmZm§ {dJ«hm: boIZr`m: & (Ho$db§  àíZfQ²>H$_²) 

 {ZåZ{b{IV dma`m| _| aoIm§{H$V g_ñV-nXm| Ho$ {dJ«h {b{IE & (Ho$db N>: àíZ) 
 Expound the underlined words of the following sentences.  

                                                                                     (Only six questions) 1 6=6 

(i) Aqhg`m M ^yVmË_m & 

(ii) Vo _yT²>{Y`: nam^d§ d«OpÝV & 

(iii) Vo _Ëñ`g§j`§ H$[aî`pÝV & 

(iv) gw_{h_m `ÚpñV qH$ _ÊS>Z¡: & 

(v) gy`© Ed AhmoamÌ_² OZ`{V & 

(vi)  gd©o `WmñWmZ_² Cn{depÝV & 

(vii)  ZrbmH$me: N>ÌdV² àVr`Vo & 
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7. AYmo{b{IVofw dma`ofw H$moîR>H$mÝVJ©V-àH¥$qV àË` §̀ M `moO{`Ëdm [aaVñWmZm{Z nya`V &  
                                                                  (Ho$db§ àíZmîQ>H$_²) 

 {ZåZ{b{IV dma`m| _| H$moîR>H$ Ho$ AÝVJ©V Xr JB© àH¥${V Ho$ gmW {Z{X©îQ> àË`` H$mo Omo9S>H$a 
[aaV ñWmZm| H$s ny{V© H$s{OE & (Ho$db AmR>  àíZ) 

 Fill in the blanks in the following sentences by adding suffixes to the 

roots and words given in the brackets. (Only eight questions) 1 8=8 

(i) ^dpÝV _m`m{dfw `o Z ___________ & (_m`m + B{Z) 

(ii) N>mÌm: bohZJa§  ___________ & (à + `m + º$) 

(iii) H$m{bXmgñ` ___________ {dkm` {dÚmoÎm_m {IÞm OmVm & (_yI© + Vb²) 

(iv) H$ÄMwH$s ___________ AmH$me§ à{V CÛrú` dX{V & (n[a + H«$_² + ë`n²) 

(v) BXmZt XþJ©g§ñH$ma: ___________ & (à + Am + a ²̂ + Vì`V²) 

(vi) ZmÝ`m Vofm§ ___________ ^doV² & (J_² + {º$Z²$) 

(vii) ___________ AÌ gd©_² & (a_² + AZr`a²) 

(viii) A{^`mZ§ ___________ AmgrV² & (gmhg + R>H$²) 

(ix) gd©o N>mÌm: `mÌmd¥Îm§ ___________ CËgwH$m: & (Ñe² + Vw_wZ²) 

8. AYmo{b{IVofw dma`ofw H$V©¥{H«$`mnX`mo: ApÝdqV Hw$éV & 
 {ZåZ{b{IV dma`m| _| H$Vm© Ed§ {H«$`m nXm| H$s ApÝd{V H$s{OE & 

 Write the suitable verbs according to the subject in the following 

sentences. 1 5=5 

(i) _¡Ìo`: BV Ed __________ & (AmJÀN>{V/AmJÀN>pÝV)  

(ii) A`_² Ed AhmoamÌ§ __________  & (OZ`{V/OZ`{g) 

(iii) Ah§ àjonHo$U __________ & (Xe©`m{_/Xe©`{V) 

(iv) H$ZH§$ MVw{ ©̂: _________ & (narú`ÝVo/narú`Vo) 

(v) C�¡: {dhñ` `X² ^{dî`: __________ & (CdmM/D$Mw:) 

AWdm (OR) 
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 AYmo{b{IVofw dma`ofw {deoî`¡& gh _ÄOyfm`m& {deofUnXm{Z `moO`V & 

 {ZåZ{b{IV dma`m| _| {deoî`m| Ho$ gmW _ÄOyfm go {deofU nXm| H$mo Omo{9S>E & 

 Add the appropriate adjectives from the box with their qualifying nouns 

in the following sentences. 1 5=5 

(i) MméXÎmñ` X[aÐ^md: __________ & 

(ii) amObú_r: {h __________ ^d{V & 

(iii) __________ nmXnm: A{n {ZnVpÝV & 

(iv) V¥Um{Z ŷ{_éXH§$ dmH$² MVwWu M __________ & 

(v) {H$ÝVw Z H$Xm{MV² Am`©ñ` __________ àd¥{V: & 

                     _ÄOyfm                           

 

9. AYmo{b{IVofw dma`ofw H$moîR>H$àXÎmeãX¡: gh Cn ẁaVm§ {d^{a§V à`wÁ` [aaVñWmZm{Z nya`V &  
                                                                (Ho$db§  àíZnÄMH$_²) 

 {ZåZ{b{IV dma`m| _| H$moîR>H$ _| {XE JE eãXm| go Cn ẁº$ {d^{º$ H$m à`moJ H$a [aº$ 
ñWmZm| H$s ny{V© H$s{OE &(Ho$db nm±M  àíZ) 

 Fill in the blanks using appropriate case-endings with the words given in 

the brackets in the following sentences. (Only five questions) 1 5=5 

(i) __________ Cn[a pñWVm: àXoem: g§pñH«$`ÝVm_² & (gwJm“àmgmX) 

(ii) H$W§ ñnY©Vo __________ gh XþamË_m amjg: & (Añ_X²) 

(iii) Ab_² AZoZ __________ & ({dZ`) 

(iv) A`§ __________ AÜ`mñVo d¥fb: & (qghmgZ) 

(v) _mZdOrdZo __________ {dZm g\$bVm Z bä`Vo & (n[al_) 

(vi) Z __________ AÝVam MmUa`: ñdßZo@{n MoîQ>Vo & (n«`moOZ) 

gw~Õ_ybm:, a_Ur`:, XþamamÜ`m, gyZ¥Vm, {Zîà`moOZm & 
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IÊS…> K (SECTION D) 
^mJ I 

(PART I) 
n{R>Vm§e  Ad~moYZ_² 
n{R>Vm§e  Ad~moYZ 

 Reading Comprehension 35 A‘>m& 

10. AYmo{b{IV§ JÚm§e§ n{R>Ëdm VXmYm[aVmZ² àíZmZ² g§ñH¥$VoZ CÎmaV & 
 {ZåZ{b{IV JÚm§e H$mo n9T>H$a CZ na AmYm[aV àíZm| Ho$ CÎma g§ñH¥$V _| Xr{OE & 

 Read the following prose passage and answer the questions based on 
them in Sanskrit. 5 

 JÚm§e…  

 H$pñ_p̈íMV² Obme`o AZmJV{dYmVm, àË`wËnÞ_{V:, `X² ^{dî`íMo{V Ì`mo _Ëñ`m: à{VdgpÝV 
ñ_ & AW H$Xm{MV² V§ Obme`§ ÑîQ>²dm JÀN>X²{^: _Ëñ`Or{d{^: CaV_²  Ahmo ! 
~hþ_Ëñ`mo@`§ õX: H$Xm{n Z Añ_m{^: AÝdo{fV: & AÚ Vw Amhmad¥{Îm: gÄOmVm & gÝÜ`mg_`: 

A{n g§d¥Îm: & VV: à^mVo AÌ AmJÝVì`_² & 
 àíZm… 

(A) EH$nXoZ CÎmaV & 
  EH$ eãX _| CÎma Xr{OE & 
  Answer in one word. 

2

1  2=1 

(i) Obme`o H${V _Ëñ`m: AmgZ² ? 
(ii) _Ëñ`Or{dZ: qH$ ÑîQ>dÝV: ? 

(~) nyU©dma`oZ CÎmaV & (Ho$db§ àíZ_oH$_²) 
  nyU© dma` _| CÎma Xr{OE & (Ho$db EH$ àíZ) 
  Answer in a complete sentence. (Only one question) 2 1=2 

(i) _Ëñ`Or{d{^: H$: Z AÝdo{fV: ? 
(ii) AÚ _Ëñ`Or{dZm_² H$m gÄOmVm ? 

(g) `Wm{ZX}e_² CÎmaV & (Ho$db§ àíZMVwîQ>`_²) 
  {ZX}emZwgma CÎma Xr{OE & (Ho$db Mma àíZ) 
  Answer as directed. (Only four questions) 

2

1  4=2 

(i) 8õX:9 B{V eãXñ` {deofUnX§ AÌ qH$ à`wº$_² ? 
(ii) 8VS>mJ_²9 B{V nXñ` n`m©`dm{MnX§ qH$ à`waV_² ? 
(iii) 8ñdën9 B{V nXñ` {dbmo_nX§ qH$ à`waV_² ? 

(iv) 8à{VdgpÝV ñ_9 B{V {H«$`mnXñ` H$V©¥nX§ {H$_² ? 

(v) ~hþ_Ëñ`mo@`§ õX: Añ_m{^: H$Xm{n Z AÝdo{fV: AÌ "Añ_m{^:' B{V 
gd©Zm_nX§ Ho$ä`: à`waV_² ? 
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11. AYmo{b{IV§ nÚm§e§ n{R>Ëdm VXmYm[aVmZ² àíZmZ² g§ñH¥$VoZ CÎmaV & 
 {ZåZ{b{IV nÚm§e H$mo n9T>H$a Cg na AmYm[aV àíZm| Ho$ CÎma g§ñH¥$V _| Xr{OE & 

 Read the following verse and answer the questions based on them in 

Sanskrit. 5 

 nÚ_²: 

88dXZ§ àgmXgXZ§ gX`§ öX`§ gwYm_wMmo dmM: &  

H$aU§ namonH$aU§ `ofm§ Ho$fm§ Z Vo dÝÚm: &&99 

àíZm… 

(A) EH$nXoZ CÎmaV & 

  EH$ eãX _| CÎma Xr{OE & 

  Answer in one word. 
2

1  2=1 

(i) gVm§ dmM: H$W§ H${WVm: ? 

(ii) g:mZmZm§ öX §̀ H$sÑe§ ^d{V ? 

(~) nyU©dma`oZ CÎmaV & (Ho$db§ àíZ_oH$_²) 

  nyU© dma` _| CÎma Xr{OE & (Ho$db EH$ àíZ) 

  Answer in a complete sentence. (Only one question) 2 1=2 

(i) H$sÑem: OZm: dÝXZr`m: ^dpÝV ? 

(ii) gVm§ dXZ_² H$sÑe§ ^d{V ? 

(g) `Wm{ZX}e_² CÎmaV & (Ho$db§ àíZMVwîQ>`_²) 

  {ZX}emZwgma CÎma Xr{OE & (Ho$db Mma àíZ) 

  Answer as directed. (Only four questions) 
2

1  4=2 

(i) 8_wI_²9 B{V nXñ` n`m©`nX§ qH$ à`waV_² ? 
(ii) 8{df_²9 BË`ñ` {dbmo_nX§ {H$_² ? 

(iii) 8nyOZr`m:9 BË`ñ` ñWmZo qH$ nX_² AÌ à`waV_² ? 

(iv) 8gwYm_wM:9 B{V H$ñ` nXñ` {deofU_² ? 

(v) 8namonH$aU_²9 BË`ñ` {deoî`nX§ nÚm§eo {H$_² à`waV_² ? 
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12. AYmo{b{IV§ ZmQ>çm§e§ n{R>Ëdm VXmYm[aVmZ² àíZmZ² g§ñH¥$VoZ CÎmaV & 
 {ZåZ{b{IV ZmQ>çm§e H$mo n9T>H$a Cg na AmYm[aV àíZm| Ho$ CÎma g§ñH¥$V _| Xr{OE & 

 Read the following drama passage and answer the questions based on 
them in Sanskrit. 5 

ZmQ>çm§e§ … 
H$ÄMwH$s – Xod ! H$: AÝ`: Or{dVwH$m_mo Xodñ` emgZ_² A{VdV©oV ? 
amOm – (ZmQ>çoZ Cn{dí`) Am`© ! AmMm`© MmUa`§ ÐîQw>{_ÀN>m{_ & 
H$ÄMwH$s – `Wm Amkmn`{V Xod ! (B{V {ZîH«$mÝV:) & 
MmUa`: – (AmH$meo bú`§ ~X²Üdm) H$W§ ñnY©Vo _`m gh XþamË_m amjg: ? amjg ! 

amjg ! {da_ {da_ Añ_mX² Xþì`©gZmV² & 
H$ÄMwH$s – (à{dí`) (n[aH«$å` Adbmoa` M) BX§ Am`©MmUa`ñ` J¥h_² & Ahmo ! 

amOm{YamO_pÝÌUmo {d ŷ{V: & VWm{h Jmo_`mZm_² Cnb ôXH$_² EVV² 
àñVaIÊS>_², BV: {eî`¡: AmZrVmZm§ X^m©Um§ ñVyn: AÌ ewî`_mU¡: g{_X²{^: 
A{VZ{_V: N>{XàmÝV: OrUm©: {^Îm`: & AV Ed {Zñn¥hË`m{J{^: EVmÑe¡: OZ¡: 
amOm V¥UdX² JÊ`Vo & 

àíZm… 

(A) EH$nXoZ CÎmaV & 
  EH$ eãX _| CÎma Xr{OE & 
  Answer in one word. 

2

1  2=1 

(i) AmMm`©MmUa`§ H$: ÐþîQw>_² BÀN>{V ?  

(ii) Or{dVwH$m_: H$ñ` emgZ_² A{VdV©oV ? 

(~) nyU©dma`oZ CÎmaV & (Ho$db§ àíZ_oH$_²) 
  nyU© dma` _| CÎma Xr{OE & (Ho$db EH$ àíZ) 
  Answer in complete sentence. (Only one question) 2 1=2 

(i) MmUa`: amjg{df`o qH$ H$W`{V ?  

(ii) MmUa`ñ` J¥ho qH$ {H$_² AmgrV² ? 

(g) `Wm{ZX}e_² CÎmaV & (Ho$db§ àíZMVwîQ>`_²)  
  {ZX}emZwgma CÎma Xr{OE & (Ho$db Mma àíZ) 
  Answer as directed. (Only four questions) 

2

1  4=2 

(i) 8X^m©Um_²9 B{V nXñ` {deofUnX§ AÌ qH$ à`waV_² ? 
(ii) 8JJZo9 B{V nXñ` n`m©`nX§ AÌ qH$ à`waV_² ? 
(iii) H$W§ ñnY©Vo _`m gh AÌ 8_`m9 B{V gd©Zm_nX§ H$ñ_¡ à`waV_² ? 

(iv) 8_hmË_m9 BË`ñ` {dbmo_nX§ qH$ à`waV_² ? 

(v) 8Amkmn`{V9 B{V {H«$`mnXñ` H$V©¥nX§ qH$ à`waV_² ? 
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13. `Wm{ZX}e_² àíZÛ`_² CÎmaV & 

 {ZX}emZwgma XmoZm| àíZm| Ho$ CÎma Xr{OE & 
 Answer both the questions as directed. 2+2=4 

(A) 8YÝ`: Ef: Hw$b_yb§ lram_MÝÐñ` &9 Añ`m: n§ºo$: gÝX^©J«ÝWñ` boIH$ñ` M Zm_ 
{bIV & 

(~) 8qH$ ^dmZ² AW©{d^d§ {MÝV`{V &9 B{V H$: H§$ à{V H$W`{V ? 

AWdm 

(A) 8AÚ Vw Amhmad¥{Îm: gÄOmVm &9 B{V n§ºo$: gÝX ©̂J«ÝW: H$: ? H$íM Añ` boIH$: ? 

(~) 8Z Iëdh§ ZîQ>m§ {l`_² AZwemoMm{_ &9 B{V dma`§ H$: H§$ à{V H$W`{V ? 

14. àË`oH$_² A§eñ` àXÎm-^mdmW©-Ì`mV² ewÕ§ ^mdmWª {MËdm {bIV & 

 àË`oH$ A§e Ho$ {bE {XE JE VrZ ^mdmWm] _| go ewÕ ^mdmW© H$m M`Z H$aHo$ {b{IE & 
 Pick out and write the correct one out of the three explanations given for 

each of the following lines. 2+2=4 

(A) 88g qH$ gIm gmYw Z empñV `mo@{Yn_² &99 
 ^mdmWm©: 

(i) `: A{Yn§ {Z`ÝÌ`{V g qH$ gIm ^d{V & 
(ii) `: amOmZ§ gå`H$² Cn{Xe{V gqH$gIm ^d{V & 
(iii) `: ñdñdm{_Zo gËnam_eª Z XXm{V g: `mo½`: g{Md: ^{dVw§ Z eaZmo{V & 

(~) 88XþamamÜ`m {h amObú_r: &99 
 ^mdmWm©: 

(i) amObú_r: AmamY{`Vw§ Aea`m & 

(ii) àmáñ` amÁ`ñ` g§ajU§ amk: H¥$Vo A{VH${R>Z§ ^d{V & 

(iii) amkm gX¡d àOmZm§ ajU§ H$V©ì`_² & 

AWdm (OR) 
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AYmo{b{IVñ` nÚñ` àXÎm§ ^mdmWª _ÄOyfmàXÎmnX¡: nya{`Ëdm nwZ: {bIV & 

 {ZåZ{b{IV nÚ Ho$ {XE JE ^mdmW© H$mo _ÄOyfm _| {XE JE nXm| go nyU© H$a nwZ: {b{IE &  
 Complete the central idea of the given verse with the words given in the 

box below and rewrite the same. 
2

1  8=4 

íbmoH$:  
88`Wm MVw{ ©̂: H$ZH§$ narú`Vo,  
  {ZKf©UÀN>oXZVmnVmS>Z¡: & 
 VWm MVw{ ©̂: nwéf§ narú`Vo, 
 Ë`mJoZ erboZ JwUoZ H$_©Um &&99 

 ^mdmW©… 
 gwdU©ñ` ewÕVm`m: (i) _________ MVw{ ©̂: (ii) _________ ^d{V & Vo MËdma: 

Cnm`m: (iii) _________ N>oXZ_² (iv) _________ VmS>Z_² M (v) _________ & 
Ed_od (vi) _________ narjU_² A{n (vii) _________ Cnm`¡: H$aUr`_² & `Wm 
M (viii) _________ Ë`mJoZ erboZ, JwUoZ, H$_©Um M & 

_ÄOyfm 

 

15. AYmo{b{IVñ` íbmoH$Û`ñ` àXÎmmÝd`o nX¡: [aaVñWmZny{Vª H¥$Ëdm AÝd`§ nwZ: {bIV & 
 {ZåZ{b{IV Xmo íbmoH$m| Ho$ {XE JE AÝd`m| _| C{MV nXm| go [aº$ ñWmZm| H$s ny{V© H$a AÝd` 

H$mo nwZ& {b{IE & 
 The prose-order-renderings of the following two verses have been given 

below. Fill in the blanks and rewrite the same. 
2

1  8=4 

(A) nÚ_² 

 {ejmj`§ JÀN>{V H$mbn`©`mV², 

  gw~Õ_ybm: {ZnVpÝV nmXnm: & 

 Ob§ ObñWmZZJV§ M ewî`{V, 

  hþV§ M XÎm§ M gX¡d {VîR>{V && 

AÝd`… 
  H$mbn`©`mV² (i) _________ j`_² JÀN>{V & gw~Õ_ybm: (ii) ________ {ZnVpÝV & 

ObñWmZJV_² (iii) _______ M ewî`{V & hþV§ M XÎm§ M (iv) _______ Ed {VîR>{V & 

 Kf©U_², Vñ`, MVw{ ©̂:, Vmn:, narjU_², Cnm`¡:, nwéfñ`, ^dpÝV 
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(~) nÚ_² 

 V¥Um{Z ŷ{_éXH§$ dmH$² MVwWu M gyZ¥Vm & 

 EVmÝ`{n gVm§ Joho ZmopÀN>ÚÝVo H$XmMZ && 

AÝd`… 
  V¥Um{Z (i) _________ CXH$_², MVwWu M (ii) _________ dmH$² & gVm§  

(iii) _________ EVm{Z A{n (iv) _________ Z CpÀN>ÚÝVo & 

16. AYmo{b{IVmZm§ 8H$9 ñVå^ñ` dma`m§emZm§ 8I9 ñVå^ñ` dma`m§e¡: gh gmW©H$gå_obZ§ H¥$Ëdm 
dma`m{Z nwZ: {bIV & 

 {ZåZ{b{IV 8H$9 ñVå^ Ho$ dma`m§em| H$m 8I9 ñVå^ Ho$ dma`m§em| Ho$ gmW gmW©H$ {_bmZ 
H$aHo$ dma`m| H$mo nwZ: {b{IE & 

 Match the following sentences of column 8H$9 with the suitable sentences 

of column 8I9 and rewrite the same. 1 4=4 

       8H$9         8I9 
(A) EH$mo {h Xmofmo JwUg{ÞnmVo (i) fÊUm§ G$VyZm_² & 

(~) A`_od H$maU_² (ii) MmUa`: ñdßZo@{n MoîQ>Vo & 

(g) _R>ofw CËH$sUm©: boIm: (iii) {Z_:mVrÝXmo: {H$aUopîddm‘>: & 

(X) Z à`moOZ_ÝVam (iv)  {Vã~Ve¡ë`m: n[aMm`H$m: & 

17. AYmo{b{IVofw dma`ofw aoIm{‘>VeãXmZm§ àg“mZwgma_² gmW©H$_² AWª {MËdm {bIV &  
                                                              (Ho$db§ àíZMVwîQ>`_²) 

 {ZåZ{b{IV dma`m| _| aoIm§{H$V eãXm| Ho$ àg§JmZwgma gmW©H$ AW© MwZH$a {b{IE &  
                                                                  (Ho$db Mma àíZ) 

 Select and write the appropriate meanings of the underlined words in the 

following sentences according to the context. (Only four questions) 1 4=4 

(A) "XþJ©g§ñH$ma: àmaãYì`: &' 

(i) {ddmhg§ñH$ma: 

(ii) XþJ©g§ñH¥${V: 

(iii) goZmg§J«h-XþJ©n[aîH$mam{XH$_© 
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(~) {h_§ {J[aamOñ` emo^m§ àdY©̀ {V & 

(i) {JaZmaZJañ` 

(ii) {h_mb`ñ` 

(iii) {eIañ` 

(g) dm[aUm ŷq_ {gÄMÝVw & 

(i) OboZ 
(ii) Xþ½YoZ 
(iii) nm{UZm 

(X) jwañ` Ymam {Z{eVm XþaË``m & 

(i)  {Zem`wº$m 
(ii) VrúUm 
(iii) K{f©Vm 

(`) 8ew{M _Z: `ÚpñV &9 
(i)  emoMZr`_² 
(ii) n{dÌ_² 
(iii) emoH$mHw$b_² 

IÊS…> K (SECTION D) 

^mJ II 

(PART II) 

gm_mÝ`… g§ñH¥$Vgm{hË`n[aM`… 

gm_mÝ` g§ñH¥$V gm{hË` n[aM` 

 General Introduction to Sanskrit Literature 10 A‘>m& 

18. (A) AYmo{b{IVofw H$ñ`m{n EH$ñ`  g§{jßV: n[aM`: g§ñH¥$VoZ bo»`: &  

  {ZåZ{b{IV _| go {H$gr EH$  H$m g§{jßV n[aM` g§ñH¥$V _| {b{IE &  
 Write a brief note on any one of the following in Sanskrit. 5 

  H$m{bXmg:,  Apå~H$mXÎmì`mg:,  ^mg: &  

AWdm (OR) 
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  AYmo{b{IVofw dma`ofw _ÄOyfmnXgmhmæ`oZ [aaVñWmZm{Z nya{`Ëdm Vm{Z nwZ: {bIV & 

  {ZåZ{b{IV dma`m| _| _ÄOyfm Ho$ nXm| H$s ghm`Vm go [aº$ ñWmZm| H$s ny{V© H$aHo$ CÝh| 
nwZ: {b{IE & 

 Fill in the blanks in the following, using the words from the box 

and rewrite the same. 
2

1  10=5 

(i) nÄMVÝÌñ` boIH$: __________ ApñV & 

(ii) __________ MånyH$mì`§ ^d{V & 

(iii) ZmQ>H$ñ` Amaå ô __________ ^d{V & 

(iv) MméXÎmñ` boIH$: __________ ApñV & 

(v) Cn_m __________ & 

 (vi) _hm^maVo __________ ndm©{U gpÝV & 

 (vii) MaH$g§{hVm`m: boIH$: __________ ApñV & 

 (viii) JÚ§ H$drZm§ __________ dXpÝV & 

 (ix) "H$mXå~ar' BË`ñ` boIH$: __________ ApñV & 

 (x) am_m`U_² __________ H$Ï`Vo & 

_ÄOyfm 

 
 

(~) _hmH$mì`ñ` AWdm ZmQ>H$ñ` H$m A{n nÄM{deofVm: g§ñH¥$VoZ {bIV & 
 _hmH$mì` `m ZmQ>H$ H$s {H$Ýht nm±M {deofVmAm| H$mo g§ñH¥$V _| {b{IE & 
 Write any five characteristics of Mahakavya or Drama in 

Sanskrit.  5 

H$m{bXmgñ`, Am{XH$mì`_², {ZH$f_², MaH$:, AîQ>mXe, {dîUwe_m©, JÚnÚ_`_², 
ZmÝXr, ^mg:, ~mU^Å>: & 

00 


